goooobboboooobon
0Dooood
D000000000000000

goooo bo
oboo19970 100 70
oboo19980d 90 220
gobg19990 90 210

0000 10-2: 0000000000000 0000000.
(1)

5{E1 + 10%2 50

AVARVAN
—_

1+ X2

IN
W

Z2

Y
o

T1,I2

(2)

r1 + 3x9

VoIV
UG

T + X2

Vv
o

Ty, X2

(3)

Vv
o

xr1 — 0.5282

Y
|
ot

Xr1 — 5.%'2

Y
o

€1, T2

(4)

v
—_

1+ X2

—0.5.%‘1 - 5{E2

V

—10

Y
o

Ty, X2

(5)

IN

Ty + X2 + T3

IN

I

x3

(AVARRVAN
o B~ U O

Z1,22,T3



(6)

1 + 2x9
2(1)1 + 29 < 1

IV
W

r1,T2 > 0

goobo0b10-3: 0000000 ooooooooooooooo(@oOo(moo (h)oooo
00000000000000000D0000O000.0oog.)

(1)
Maximize z = x1 + 2
subject to bx1 + 1022 < 50
Ty +r2 2> 1
i) S 4
z1,22 > 0
(2)

Minimize z = 1.521 + 2.5x9
subject to 1 +3x2 > 3
T1+x9 > 2

r1,72 > 0

(3)

Maximize z = x1 + 229

Vv
o

subject to x1 — 0.5x9

Y
|
o

Tr] — 5332

r1,T2 > 0

(4)

Minimize z = 2x1 + 2x9
subject to z1 +z9 > 1
—0.5.1‘1 — 5.%'2 Z —10

r1,T2 > 0



(5)

Maximize z = x9

subject to x1 + z9 + x3

VANV

z1

T3

(AVARR VAN
o A~ oo

€1,T2,T3
U104 JO0O0OO0OO0O0OO0O0OO0O0OO0O0ODOOOO0O.

(H)ODO0O

v

2r1 — X2 —2
r1+2x9 <8
x> 0
0oo0ooooobooooooboooooooooooonoog.
max z = Tg
max z = 3x1 + 229

1)

2)
-3) minz = 2x; + 4xo
4) minz = —3x; — 229

(2)0000

IN

Xr1 — 3.%'2

Y

T1 + 222

6
4
T + 229 8

(AVARRVAN

0

1,22
gbobooboobobooboooboboobooboboobon.

max z = 2x1 + 3x9

min z = x1 + 29

21)
2.2)
2-3) maxz = x1 — 2x9
2-4) maxz =z — 3x2
2-5) maxz = 1 — 622

g 10-5:
gbo3dubobobboobboooboobooobboobooobo

g 10-6:
oboo400000000000D00OO0ODODOOODOOOODODOOODOO



